11. 1£§—. 12. 120. 13. 112 kg, 8kg. 14. 1100 K&, 1320 Kss,

252
880 Kés. 15. 1m, 7 m. 16.312, 17.2 41 mi1.

Ii. NASOBENI A DELENf RACIONALNICH (iSEL
1. Nisobeni raciondlnich ¢isei

3 2 15 39 14
)31—6?5,13)7,,),80“ .a)3=3,6=6,525=5.25;
184 5 5 . .1 3 6 108 2
b) Tﬁ‘1 0014y s T3
1555 0958 - O 3
6. a) T2 37 b) 1, 39 18’ c) 1, 3 0 5 7 x>7 1<l x>1
5 B .5 5. Yol LA B oY e
8-2) ~g —33 Tiroe D 2 Lt 29555 5
Igg 9.12,772; —17,325: 39,42 1,036 2; —15: —0,99: 1,999 8: 1.
2 3 10 &7 i)
10. —3 0, " , 0, 7 39" —0.3, 1100° 1, 1, —=0.,062.
1 3 2 10
i1. 5 Z —g 0 1 —1 S
S B T
2 4 8 3 2 7 3
P i el RS e
4 | ® T® T | 4 4 B
L el e Eo@ TaT
3 3 2 9 3 3 9
0 0 0 0 0 0 0 0
—1 3 —2 —10
L m B s e
1 -3 2 10
Rlailis . B - & B &1 3
=10 4 5 =30 20 g S dg. - 1ol
3 3 2 g 3 3 9
! oy 8w T
12. a)z,b)ﬂ,c) 27,(1) 5
2. Vlastnosti ndsobeni racionalnich ¢isel
N e T e B
l.a)ﬁ=§,b)-:l;-—-?-—.c)@-(],d)ﬂ—(),c) 1= I,I)l0 10"

_ , AT s 345
g)3.16=3,16; h) 1=1: 1) =3=-3: J) 3=3: k) ~7505= "7 000’

] - 1 1 1
1) %= %= g;m) 0=0. 2. a)—=—: b) —3= 3¢ c) 0=0:d) 0=0.

37 a7 11 77 -1 =1 17 17 " 1122 2 21

Mg 56" o105 Y 350 28 V300389 15 105 P 5 a0
6.a) :j- —?.%.necxistujc. “% -;1- % -!1832 b) 7 wsz é
3 —% —%, % neexistuje, - 37 2.4, neexistuje. 7. a'}%=§;
b)Y 74=74; C}f—(ll %: d) 65.8=658: ¢) I=1. & a) 2%2:
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